23

W+18
18 w=W-18 18
ZZzin
ye |‘
W-5

W (89 i)

@
_:L L
\  —
@ _ y
T <=
&
L |
o = |
oz <> Tz
T 1l §
<> T
<= H o OEOER A53UREEEE
<] _ Rt ZEHREE
== BATE : Wx H=1.0m5LF
o] E’E — K30 =16005LF
— BN W=100 H=100
ss || w BT A L REEE A5 A1
T
TENEIERYET
No. w H B% | & %
1
2
3
4
L<800 L<800 5
9 o R & # B ® &
® TRk TARH t=1.3 JIS 6 4100
) JI—2PR TIRRH 0.6 J1S 6 4100
) U ® B — TNERH 3.0 JIS G 4100
|| @ 7z —ABfTER N5 x 22
©® S POACES)
PRSI EHE
Btiiw
ﬁ
& Hit
%
R NON ? ;] i Eﬁ i3 & s
& Reme |B=re |H[z70 |B [o0mm
BE7 AWt Rt E 20120022




